AN sEIIEY
M AYNSAWAND(SPHLSM/ 5
ool HEASY 54 (29l & 2)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
S0 ekt 109,899,552 106,756,095 3,143,457
= 80,666,990
Xl 14,789,000
J| 293,300
< 14,150,262
AUANSHAMAY D (sEHL2 /5 - =& 88,252,902 83,723,274 4,529,628
= 77,866,990
Xl 300,000
J| 293,300
< 9,792,612
HEdsy |4 24,167,280 24,400,187 A 232,907
= 20,802,090
Xl 300,000
< 3,065,190
RIEdl2 N (212) 16,577,120 16,577,120 0
= 14,801,000
< 1,776,120
308 MtXIEHSOIH 16,577,120 16,577,120 0
= 14,801,000
< 1,776,120
01 HXNHHNBHELS 16,577,120 16,577,120 0
HIEBHEESS 16,577,120
= 14,801,000
=) 1,776,120
ELMEH XA (=1) 4,561,110 4,222,942 338, 168
= 4,041,490
< 519,620
308 XA EHSOIA 4,561,110 4,222,942 338, 168
= 4,041,490
< 519,620
01 HIXNHHNBHEELES 4,561,110 4,222,942 338, 168
OELME M 4,561,110
= 4,041,490
< 519,620
Astd=g ARAAME(21) 420,000 335,250 84,750
Xl 300,000
< 120,000
403 MtXISHH S A0l & 420,000 335,250 84,750
Xl 300,000
= 120,000
01 X SHHAN2E= 420,000 335,250 84,750
oA=L N2 H 420,000
Xl 300,000
< 120,000
Hedsga=(=21) 1,727,600 2,057,850 330,250
= 1,727,600




A s
Ha: AYNSAVAND(SYHLSM/5Y - 55)
Sel: HBPSY S4 (B9 ®R)
- _ _ RE]
S EH B (BH) - MBAY - BAS Ol At o %@ﬁ HRE2
308 XHXIEHSO|A 1,727,600 2,057,850 A 330,250
= 1,727,600
01 AIXSHMEMNEX= 1,727,600 2,057,850 A 330,250
OrEHA=H MNYEX=EH 1,727,600
= 1,727,600
e S8 KRSE435 216,100 297,800 A 81,700
202 044 10,000 8,000 2,000
01 2Ll 10,000 8,000 2,000
OXstds=sg ESHHYR =X 10,000
308 AMXISHMSOIA 54,000 64,800 A 10,800
01 AIXSHMENEXZ 54,000 64,800 A 10,800
CHBHAZSMES TRHK L 54,000
403 XX S HS K20 & 152,100 225,000 A 72,900
01 XIS AZ2E X 152,100 225,000 A 72,900
OREHSNE ZSSIFAIE - HUHIXE 62,100
OFstdAsdzE B346H XX 90,000
TEtd=sg ARI|E S 142,200 165,600 N 23,400
403 XX SRS R20| & 142,200 165,600 N 23,400
01 XS A2E X 142,200 165,600 A 23,400
OXSHA=Y NSAMAI =4 46,800
OXSHASAZE ASMAAILE X & 14,400
SIsat2 M= - JFZ2AE X 81,000
AEA SINM 23 61,200 92,700 A 31,500
308 AXIEHMSOIA 61,200 92,700 A 31,500
01 AIXSHMEAMNEX= 61,200 92,700 A 31,500
orEA XM 222 61,200
AEtd=sg s 126,000 143,280 N 17,280
307 2izto| A 30,000 30,000 0
04 QIZ2tSHAFALS B X 30,000 30,000 0
O EEsNZ BHE3 30,000
308 MXISHMSOIA 96,000 113,280 N 17,280
01 IIXHHINMNEEXTZ 96,000 113,280 N 17,280
OFSAHASAMZ ASEXH| 90,000
OrEBHAM=HO M2)|= FEHNZ 6,000
SIINsAXNM XK (=2D) 335,950 507,645 A 171,695
= 232,000
& 103,950
308 XXIGHH SO0l & 335,950 507,645 A 171,695
= 232,000




2N =8t
HE: AZNSIMARD(SYHYSM/5 - 5&)
Sel: HBPSY S4 CEEEED
SA-EB .Y (BH) - ABAY - B2 O At 0t San H D2
= 103,950
01 AIXIHMBAEEXZ 335,950 507,645 A 171,695
ORIN=sAM XS 335,950
= 232,000
< 103,950
AAt M A 38,670,600 37,137,522 1,533,078
= 36,784,900
Jl 293,300
= 1,592,400
DS EA MA 1,138,800 818,000 320,800
202 04| 6,500 6,500 0
01 2LHOHI 6,500 6,500 0
oA =X 6,500
307 212t01 & 92,000 52,000 40,000
02 DIZtZAAMEE X 7,000 0 7,000
O M= il dHuUS 7,000
04 QI2FSHALAIE B = 85,000 52,000 33,000
oxaL =8 0AHE XN 50,000
oL &= OAHEY XN 35,000
308 AXISHMSOIA 886,000 542,000 344,000
01 AIXIHMBAEXZ 886,000 542,000 344,000
OL3AL +=5X2 MM =4 15,000
oA AHIEX X 45,000
OH MHlEe M8 S s X 500,000
O HMMAMS s = AMSH=S AIHTHH 270,000
OL3AY == &Y XN 34,000
Ol A HULHEH X 9,000
oY MY=sIt RES3EXN 22 13,000
403 ItXISHXM S K201 & 154,300 217,500 A 63,200
01 AIXISHMA2E X 154,300 217,500 A 63,200
OH EZ A4 X 61,800
OH sEZ28 AIdHA 15,000
OH 22Xl 8 bHlgdteA 46,800
ONAH ==2AHXD =2 41,000
oH =2 28t 13,500
OLNSEN M SAE2ALI| X 20,000
O8HMN 28a=I| K& 18,000
He g3 e (NAM)NR(ZD)(HE) 36,000 36,000 0
= 36,000
201 et A | 20,400 20,400 0
= 20,400




AN sEIIEY
HE: AZNSIMARD(SYHYSM/5 - 5&)
el mAe AW s CEEEED
SA - BB B () - MM - BES Ol &t o San HmEET
01 At 22l 19,400 19,400 0
oOLFAR =& 19,400
= 19,400
02 2324gHl 1,000 1,000 0
OLEYR UHHERA 1,000
= 1,000
202 Odl 15,600 15,600 0
= 15,600
01 = LH 4 bl 15,600 15,600 0
ox=zel =2 15,600
= 15,600
22l (XN KA(Z1D) 46,000 46,000 0
= 46,000
308 XXM SOIA 46,000 46,000 0
= 46,000
01 IXNHHBENEES 46,000 46,000 0
oxFsg=22ldl (XIXAM) K& 46,000
= 46,000
AREF BFFH N (Z2) 293,300 293,222 78
J| 293,300
308 XX EHH SOl A 293,300 293,222 78
J| 293,300
01 HXNHHBHEELS 293,300 293,222 78
HAUEZ dFZFH XA 293,300
J| 293,300
BASEHEINFXNFINES(=2) 35,190,900 35,190,900 0
= 35,190,900
308 XX EHSOIA 35,190,900 35,190,900 0
= 35,190,900
01 HIXNHHNBMNELS 35,190,900 35,190,900 0
OMASEMNZNEN=3 35,190,900
= 35,190,900
RPC JIBAIE & Uia XA (=21) 1,965,600 0 1,965,600
= 1,512,000
< 453,600
403 MHXISHHE X201 & 1,965,600 0 1,965,600
= 1,512,000
< 453,600
01 XS M A=2EE 1,965,600 0 1,965,600
ORPC JtS A4 Uizt X 1,965,600
= 1,512,000
< 453,600
eSS MADIg XM 9,932,750 8,183,803 1,748,947
= 9,070,000




AN sIIBHn
HE: AZNSIMARD(SYHYSM/5 - 5&)
Ee EAEE daDgt 24 (&)
SA - BB B () - MM - BES Ol &t o San HmEET
< 862,750
FTACHE &&= 334 M1 656,890 620, 155 36,735
202 O4dl 4,000 4,000 0
01 = LH 4 bl 4,000 4,000 0
OFTAIE 22 Z¥8H =4 4,000
308 XXM SOIA 381,840 352,980 28,860
01 IXNHHBANEES 381,840 352,980 28,860
OJEEZ A HHEH XI& 69,120
OF=s++ FZF3 60,000
OZXZEAEHE HEe XA 200,220
2L A=z 24 52,500
403 XSS A=0l& 271,050 263,175 7,875
01 HIXSHMA2E X 271,050 263,175 7,875
OrEd SMHUHSR=H 21,000
(OFSE RO IRl NS 76,050
OZXLRNREANE XA 108,000
OES&F4X HEAIE ZHXA 66,000
gxg Zsd2H SEXNA (=) 434,000 0 434,000
= 350,000
= 84,000
403 A X EHHS =0l A 434,000 0 434,000
2 350,000
< 84,000
01 X HHMA=LE L 434,000 0 434,000
OgXs 2sZIH SEXE 434,000
= 350,000
< 84,000
gsdANE3(=21) 8,720,000 7,424,400 1,295,600
= 8,720,000
202 Od4dl 13,000 0 13,000
= 13,000
01 = LH o4 1l 13,000 0 13,000
Og=sg ANSAY = 13,000
= 13,000
308 XX EHH SOl A 8,707,000 7,424,400 1,282,600
= 8,707,000
01 AXHHILEES 8,707,000 7,424,400 1,282,600
OgsgA=H 8,707,000
= 8,707,000
S Molt = 121,860 139,248 A 17,388
308 MtXIEHMSOIH 121,860 139,248 A 17,388




2N
X ZH -
L= B
el

=910l u
NYHSEBAND(SYHS /5 - 5&)
SX2 MAIIB T

SN FHE - B(BA) - MRAY - BHES Ol &t o4 San Hl B E2
01 AXSHHBLEES 121,860 139,248 A 17,388
O=&x2MAEE K& 99,360
OsJIHESe2E N3 22,500
sZII A & A50HE 15,482,272 14,001,762 1,480,510
=2 11,210,000
< 4,272,272
SIAHLUAMEA(=1) 2,400,000 2,400,000 0
= 2,000,000
< 400,000
403 MHXISHHE X201 H 2,400,000 2,400,000 0
= 2,000,000
< 400,000
TAXEH =2 X 2,400,000 2,400,000 0
O=JIH LAY 2,400,000
= 2,000,000
< 400,000
TAEUNEZ(=D) 8,967,000 8,088,990 878,010
= 8,540,000
= 427,000
308 XXM S0 A 8,967,000 8,088,990 878,010
= 8,540,000
< 427,000
01 IXNHHBNEES 8,967,000 8,088,990 878,010
OxXH=EeNAXFI=H 8,967,000
= 8,540,000
< 427,000
sJHES=S 3,051,000 3,108,500 A 57,500
202 oddl 6,500 6,500 0
01 = LH o4 1l 6,500 6,500 0
s8I A & ASHFEF=A 6,500
308 XXX SO0 2,362,000 2,458,000 296,000
01 AXSHBLEES 2,362,000 2,458,000 296,000
O=g&8 BAls #&H XA 2,290,000
OYUsIIAH =cl2ZHl XA 72,000
403 UHXISHH S X201 & 682,500 644,000 38,500
01 AXSHMA=2E X 682,500 644,000 38,500
OUE=sIIAH SHA 480,000
O28sIIH LUHAA 72,000
OUU=IIH Hisxte XA 36,000
O eledm2d HH XA 94,500
D=0 &AL X3 230,272 230,272 0
308 XXM SOl A 230,272 230,272 0




A s0leH
I AgAsZYANLU(SHHL=N/5 - &)
SRl SYIIHS X ASHH EERED
5 - 4
SH BB S (3H) - NRAY - BAS of 4 o4 il HI RS2
01 XM BaEES 230,272 230,272 0
Ondsgel sHgH & 230,272
sIHSSHER 2RNA(=Z1) 174,000 174,000 0
2 120,000
= 54,000
308 XXM SO0l & 174,000 174,000 0
= 120,000
= 54,000
01 UAXESHHBLEXS 174,000 174,000 0
OsgINH SstEX 2R 174,000
= 120,000
= 54,000
FARL 2D AH S sIIAH X (=1) 480,000 0 480,000
= 400,000
S 80,000
403 AR SHHMS K201 H 480,000 0 480,000
= 400,000
£ 80,000
01 HAHH =R E 480,000 0 480,000
OFMXNL2AIN A sI1H K& 480,000
= 400,000
= 80,000
HAZsEsIIAH PR (=1) 180,000 0 180,000
= 150,000
T 30,000
403 TR M SA=01A 180,000 0 180,000
2 150,000
= 30,000
01 HXSHH =R 180,000 0 180,000
oodalstdsIiA FLNA 180,000
= 150,000
S 30,000
SAMAIE ZH(SYHYSN/5Y - 5E) 20,579,000 21,937,290 A 1,358,290
= 2,800,000
X 14,489,000
S 3,290,000
4N S+3SHA =2E 7,541,000 7,274,000 267,000
= 2,800,000
N 2,154,000
= 2,587,000
BH==JH& (= 22) 2,500,000 3,726,000 A 1,226,000
= 2,500,000
402 QI2tXt=01 & 2,500,000 3,726,000 A 1,226,000
= 2,500,000
02 AT 2AEER(0IXMTHSA) 2,500,000 0 2,500,000




2AM: sgI|8t
M sHMADIE I (sElYSN /s - &)
Sl NN SATIHN HY (S &2)
SN EB S (3H) - NEAY - BES ofl &k o San HDE2
Otz A 2,500,000
= 2,500,000
StetiHl 24HE(=21) 300,000 300,000 0
= 300,000
403 XX S S X201 A 300,000 300,000 0
= 300,000
01 MXHHE2BE = 300,000 300,000 0
Oste Uiy S 300,000
= 300,000
I ZMEQ T KELBAME)(Z21D) 280,000 0 280,000
Xl 280,000
403 MR SHHMS K201 280,000 0 280,000
Xl 280,000
01 MHXHXMAHEE = 280,000 0 280,000
OXNELEB2MY 280,000
Xl 280,000
I ZMEQI T (sEsHMEZLE)(2D) 1,779,000 621,000 1,158,000
Xl 1,779,000
403 XX S S K201 A 1,779,000 621,000 1,158,000
Xl 1,779,000
01 HXHNMAHEBEE = 1,779,000 621,000 1,158,000
Os=Es=sgdeaEssig 1,779,000
Xl 1,779,000
EXxMETYY (sEsHME2LINE)(2D) 95,000 94,000 1,000
Xl 95,000
403 XX S M S K201 A 95,000 94,000 1,000
Xl 95,000
01 MXHHAEBE = 95,000 94,000 1,000
OsEsgdMEEIg 95,000
Xl 95,000
Al F=elAld e 841,000 836,000 5,000
403 XX SHH S K201 841,000 836,000 5,000
01 XIS A2E X 841,000 836,000 5,000
O=xclAd HE> 841,000
EXNE IISUMAY 160,000 160,000 0
403 XX S S K201 A 160,000 160,000 0
01 AXHNMAHSE = 160,000 160,000 0
OYXZ JISUHHANY 160,000
THEHOFAM  AFZEXICH (KM 2= K| ) ol & CH = 260,000 400,000 A 140,000
403 XX S M S K201 A 260,000 400,000 A 140,000
01 HXHNMAHEBE = 260,000 400,000 A 140,000




A s
A sAMMIIE M (SHHSLM/S5Y - 58)
Sl SN BADIMA =Y (B9 ®R)
- _ _ RE]
SA BB (3H) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
OL-ENsXN & Ef - 22 260,000
SHMAD|BFAE Y ALY 1,286,000 813,000 473,000
202 04| 18,000 18,000 0
01 2Ll 18,000 18,000 0
O=gMAD| B HHIAIY HFRFA 18,000
403 XX SRS K20 & 1,268,000 795,000 473,000
01 MXSHAHXNE2EE X 1,268,000 795,000 473,000
O =g MAD| A Y| 1,268,000
SHEASH HIS X 40,000 0 40,000
403 XX SHHS K201 & 40,000 0 40,000
01 XIS A2E X 40,000 0 40,000
OsgEd& HMIIZ X 40,000
=AM ARD| B A 13,038,000 14,663,290 AN 1,625,290
N 12,335,000
& 703,000
=AHI|BHAH|(=Z2D) 10,081,000 9,734,000 347,000
N 9,378,000
& 703,000
403 XX SHHS K20 & 10,081,000 9,734,000 347,000
Xl 9,378,000
& 703,000
01 AIXISHHA=Z2E X 10,081,000 9,734,000 347,000
oU+& 22X &l 2,525,000
Xl 2,349,000
= 176,000
ogo|et Al 5,363,000
N 4,989,000
& 374,000
OARE Hiz=H& 2,193,000
Xl 2,040,000
o=t 153,000
I ZMEQT (I H P2 Z R ) (=21D) 767,000 567,000 200,000
N 767,000
403 XX SRS K20| & 767,000 567,000 200,000
N 767,000
01 AXESHE2E X 767,000 567,000 200,000
OJIHSHEEE SLE 767,000
Xl 767,000
ELMNES TS (DHIZFE 2 ST A)(2D) 2,190,000 4,346,000 A 2,156,000
Xl 2,190,000
403 XX SHHS K201 & 2,190,000 4,346,000 AN 2,156,000
Xl 2,190,000
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